
Answers for Exam 3 Review Practice Problems 
 
 

Chapter 3:   
21) 4 hr. 
22) 8% juice: 10 L; 15% juice: 4 L 
 
Chapter 4: 
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21) more than 125 hours 
22) at most $3000 
38) }10,4{−  

39) 






−
2

7
,

2

17
 

40) 





 ∞∪





 −∞− ,
3

19

3

11
,  

42) no solution 
43) [ ]8,16−  

44) ( ) ( )∞∪∞− ,100,  
 
Chapter 5: 
 
1) g 141248 23 ++− xxx  
2) e 29 t−  
3) j 9124 2 +− aa  
10) d prime 
11) degrees of terms: 7, 11, 3, 0 degree of polynomial:  11 
12) 9325 23 +++− xxx ; 5;5 3 −− x  
14) 0)0( =P  6)1( −=−P  

17) 22 2xyyx −−  
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19) 1633 34 +−+− xxx  
23) 22 376 yxyx +−  

24) 4318 yx−  

26) 222 328 cabcba −+  
27) 22 254 yx −  

28) 22 16249 yxyx +−  

29) 352 2 −+ xx  
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34) )13(3 22 −yy  
36) )3)(9( −− aa  
37) )4)(23( ++ mm  

38) 2)25( +x  
39) )2)(2(4 −+ yy  
40) )2)(7( −+ xxx  

43) )3)(3)(9( 2 −++ aaa  

47) )1( 4 +yy  

50) 2)53(4 −x  
51) )3)(52( ptpt ++  
54) {8} 
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57) }4,4{−  
58) }7,0,3{−  
59) }6,1{−  
62) side is 5 units 
63) 3,5,7 −−−  or 3,5,7 
64) width: 5 in.; length: 8 in. 
 
Chapter 6 (review): 
 
2) false 

11) (a)  
9

2−  (b)  
4

3−  (c)  0 

12) LCD = 348x  
13) LCD = )2)(4)(5( −−+ xxx  
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Chapter 6 (test) 
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3) ( 3)( 8)( 9)x x x− + −  
 


